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1. If a tuna fish can is initially at 364 kelv1ns and initial pressure is 1.1 atm, what
will the new pressure be if it is cooled to 300

@ elvins?

2. If you have a can that is at 2.0 atm and
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More gas Less Gas 1. Total wall hits for
Instructions: Draw 4 tiny particles. Instructions: Draw 2 tiny particles. More gas: ?_
Using a ruler make each particle Using a ruler make each particle )y
travel 30 cm travel 30 cm Less Gas:
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Compare the pressure in
bthe two boxes using words
like double, half, etc. :
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2. Total wall hits for

Instructions:

Draw 4 tiny particles.
Using a ruler make each particle
travel 30 cm

Instructions: Draw 4 tiny particles.
Using a ruler make each particle
travel 15 cm

High temperature:
Lower temperature:

Compare the pressure in
the two boxes using words
b 1ike ouble, h f; cete.
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3. When number of gas atoms increases, pressure will: (/\ C:ff2.6\1;C? R
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4. When temperature of a gas increases, pressure will: (/\CTT?CZ =
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6. Label the X axis number of molecules and the
Y axis pressure. Make a crude graph, without

units. %f
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7. Based on the graply—pressure and molecule %)

number are f{ inversely) &
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8. Label the X axis temperature and the Y axis
pressure. Make a crude graph, without units. t

graph, pressure and temperature
inversely) proportional.
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10. Looking at the can in Problem #2 on the front of the sheet, calculate what the
pressure would be if you reduced the temperature to “absolute zero”.
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